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General Instructons :

1.
2.
3. All questions of Section-A and all questions of Section-B are to be attempted separately.
4
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The question paper comprises of two Sections, A and B. You are to attempt both the
sections.
All questions are compulsory

Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

- Question numbers 7 to 18 in Section-A are three marks questions. These are to be

answered in about 50 words each

- Question numbers 19 to 24 in Section-A are five marks questions. These are to be

answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each

question is of two marks.



/’/ -3 1 SECTION-A

T A9 SRR H AEA g9 HE F1 9ft e S0 F gene = 9w #7 1
Why is it advised to use iodised salt in our diet 7

r 4 = @ 43 | F and 87 1

! What is meant by magnetic field?

3 i & B 2 sgwEm | afad 1
Write any two applications of biogas.

4 ferelt ZemeTn =t wera & =R o Fifory i w1 v & 5w e feed snifiss sitse ¥ Wy 2
sHfuferar F &)

With the help of an example explain what happens when a base reacts with a non - metallic
oxide. What do you infer about the nature of non-metal oxide?

5 4 % el sfufrEmsl & dafea TaafE e fafan 2
() TEftEe v F a afafwa
(i) Ffewam 9t 9@ & @9 sffEn

Write balanced chemical equations for the reactions of :
(i) Aluminium with steam
(i) Calcium with water

6 Tt a7 e R vER w0 €7 @ v ) Sl TomtE e g S | 2
How do autotrophs obtain food ? Explain the process with the help of a balanced chemical
equation.

7 TN 4R ¥ 0 ot 7 €9 A venefe afufen @) dafae teetE miEm S e g 3
fafag | Fdre au T w 15 89 9% 6 F @ Fwhm: fafe
What is chlor-alkali process? Write the chemical reaction taking place in the form of a
balanced chemical equation. Name the gases liberated at the cathode and at the anode
respectively.

8 fi= = Tl gr =5 TemafE sfufemedi & von falad 3
() A+BC—AC+B
(i) A+B—C tonl
(i) X-oY+2Z
(iv) PQ+RS —»PS+RQ
(v) A0,+2B—B,0,+2A
(vij P+Q-R
State the types of chemical reactions represented by the following equations :
() A+BC—AC+B
(i) A+B-oC
(i) X—>Y+Z
(iv) PQ+RS —»PS+RQ
(v) A0O,+2B—B0,+2A
(vij P+Q-R

9 fie Afefem & fora wmw difs . 3
(a) st s e $R W E
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(b) HETH FTE F OIS I O
(¢ vl o o & ¥ wRgem % favafm wf s #
Give reason for the following :
lonic compounds are usually hard.
Sodium chloride has a high melting point.
()  Non-metals do not displace hydrogen from dilute acids.

o= pamrd 3 faeral F e e {aEifaa et smm 3009 &67 2 3
()  EEEEEIE apEA (v)  Wifeaw weghEEe

) mfEE = vy  RfEm wgiEEEe

(i) HER FEHT (vi) ity ensteme

How the following substances will dissociate to produce ions in their solutions?

(i) Hydrochloric acid (iv) Sodium hydroxide

(i) Nitric acid (v) Potassium hydroxide

(i) Sulphuric acid (wi) Magnesium hydroxide

St @it R # wEm w5 F 9w sEfEa @ v & o Geaeem ® Ao 3
Hife Y |
Describe an activity with diagram showing response of the plant to the direction of light.
(@  fr= kT s fafe 3
() vt § Inie ¥ v o #
@) i F R 23 €
(b) = rwaTg 9m fefa
@) s (i)  wafratEE
(a) State reason for the following :
(i) Rings of cartilage are present in the trachea.

(ii)  Plants look green in colour.
(b) Write other names of the following :

(i) alveolar sac (i) voicebox L,
Hiae1 Fifvr F1 s wieee 39 W e ifafa = amies $ifeg . 3
Fa, gitw, A

Draw a nerve cell and label on it the following :
Nucleus, Dendrite, Axon
ferelt ferege yadt & 1 2ffael & e fawarm 220 v 791 395 a9 s/Ege | varfea faga wmso 3

A | faem vl @1 ey qan area witefea i)

The potential difference between the two terminals of an electric iron is
220 V and the current flowing through its element is 50 A. Calculate the resistance and
wattage of the electric iron.
ﬁﬁﬁmﬁtmﬂﬂmmw#mﬁnmaﬁmﬁﬁm AT R 3
FUEE F1 FIA W Ferw IR YA F Wit 3R FAE w2 g w wifn SR owr g 2 A

I Ft FO Wiga g Hifog )



1

For the circular coil carrying current shown alongside, draw magnetic field lines. Decide
which of its face behaves as north pole and which face as south pole. Give reason to justify
your answer.

I

"
e

16 ﬁﬁﬂzﬁEnVMﬂmmﬁmmﬁmﬂﬁamﬁmmmml 3
Calculate the heat produced when 48,000 coulombs of charge is transfered in 6 minutes
through a potential difference of 50 volts.

17 ST ST 2E B £ e sreqae, Brel au geel S #1 3 W HR d@ tw am @R e 3
AT, FE: T a9 T e W w3 ferg Ty e ¥ HreHe O @ S 50 H ot T8
AT TR
fir= noy A% I fofad
@ WS e wa s e
() TR YRR % S w2 R E?

(i) % TR watawe ) R W g o ?

Now a days you might have seen at the roofs of buildings, hospitals, hostels and hotels etc.,
solar cell panel and solar water heater for obtaining electricity and hot water respectively.
Many people are also preferring these methods as a source of energy in their homes also.
Answer the following questions :
. What kind of source of energy is used here 7
()  Why are people preferring these types of sources of energy ?
(iif)  How will it affect our environment ?

38 S o & T B U AR T B H B0 F Al e 3
Mention three ways to reduce the pollution caused by fossil fuels. _
(a) mﬁﬁﬁ%aﬂwmﬁﬁﬁsmmwﬂ%ﬁmﬁwﬁmmﬁﬂmmm 5

(b) %ﬁgﬁmmmﬁmmtmﬁﬁmmt oy
(a)  Explain two ways by which food industries prevent rancidity. o D A
€ (b) Discuss the importance of decomposition reaction in metal industries with three
points.
0 () pH S vl AR ) T OHgy) F Sz TRed & w9 pH # fafi <t °
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¥ fog a7 wifau

(b) w3 A, & AT 1 orera 1 3e-3eTE faeras 5 pH &1 9fte secifaa =ifog )
(a)  Define pH scale. Draw a figure showing variation of pH with the change in
" concentration of H;.q:_ and OH{yq) ions.

(b) Mention the range of pH of acidic solution, basic solution and neutral solution

respectively.
21 (@) w9EEd T el & @, e el ofedl # aee w A @ e e v dm g

® ey ¥ wiE 3l efEl w1 e 5 v g €2

‘/{n}' Explain how does the exchange of gases occur in plants across the surface of stems,
roots and leaves.
How are water and minerals transported in plants ?
22 (a) FeE vl aw w1 whE F e s

(b)  1.6x1078 m WFAYEHT F T FIR T F AT F9E B A4AFA 10x1074 cm? Bl 20
- O FEen 7R F fou 9 ) # s da w5 giwes wifag)
L {dj/ Distinguish between the terms electrical resistance and resistivity of a conductor.
/ﬁy)’ A copper wire of resistivity 1.6 X107# ohm meter has a cross section area of 10 %1074
cm?, Calculate the length of the wire required to make a 20 chm coil.

23 (@ et @Y uwEd 9w gw I gEwE 4% @ fam ® feife 5@ ¥ g @
feramreme =1 avis Fifaw | g ot geise fe g =1 e = Ioefoe =6 W S awgds & fom
In Fftm 8 W ¢
(b) T wwemm gEEE &% § A= fag § i sER 4% F eeEe w1 sew &, (0
v w0 ) WY F ) i Frae o I ET IR0 SR gty R a9 a5y
fom o nfa wnn 2

HERFN A TEEE &

L

Y

>

Describe an activity to determine the direction of magnetic field produced by a current
carrying straight conductor. Also show that the direction of the magnetic field is reversed on
reversing the direction of current.

(b) An a-particle, (Which is a positively charged particle)
enters, a uniform magnetic field at right angles to it as shown below. Stating the relevant
principle explain in which direction will this c-particle move ?
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PR + Magnetic field
24 ()  WfR % SR WA a9 IREER St w1 e £ 5
(b)  H= R g wiew s F 5.0, 200,15 0, 20 0 7710 0 F v Sy sE F Twie T
AR 6 V H 42t § Hoifaa feg ¥
50 150

(i) wfew & varfea Fo ww

(a)  What is meant by the series combination and parallel combination of resistances?

(b) In the circuit diagram given below five resistances of 50, 200,
1502, 20 ©2 and II}I? are connected as given in figure to a 6 V battery.

(1}
)
E:‘l =
' ﬁ 08l

__+! | I —————
6V

Calculate :

(i) Total resistance in the circuit.

(i)  Total current flowing in the circuit.

4rT-& /SECTION - B

25 s AT IR TEm A - 1
(a) H~ ¥ # (b) HY#IEAF
(c) OH™ &A= (d) OH*3mA =t
In acidic solutions the pH paper detects,the concentration of :
(a) H™ ion H"ion
(¢ OH ion (d) OHYion

26 A 7 Al ® o fd ) e s @ HO T RS o o SfvaOH 1 faeaa d 1
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EHCI ﬂﬂiﬁﬂ'fﬁ? NaoHanﬁmm

{a} :mpﬁnmmﬂ:pﬂnmm
(b) I pHI3RIF pHH afums &
C(¢) LI I pH &R ¥
(d) 1% pH I3 % pH & i #
Gwen below are diagrams of three test tubes containing dil. HCl, dil. ethanoic acid and NaOH

dil HCl dil ethanoic acid NaOH solution

Choose the correct statement :
(a)  pHofIis greater than pH of I and III.
(b)  pH of Il is greater than pH of 1 and 1L
(c)  pHofLII I is equal.
(d)  pHof Ilis greater than pH of I and IIL
27 TF I 1 T HCl 3 i %1 w1 sfufien o oiv faifaa segom & o & semmm 1
a1 et Qe B T wge -
(a) T i TivdE # (b) =G H wEw B
() A Fgwia # (d)  Iuffafaa @t o
A student performed reaction between dil. HCl and zinc granules and noted the properties of
evolved hydrogen. Correct observations would be that hydrogen is :
(a)  colourless and odourless (b) lighter than air
(c) almost insoluble in water  (d)  all the above properties

28 Tt 3 Yt F Fo 7hs fa) sw 3R & weefet A it F wen e wo: At 1
Tt a1 E wehe F faema 31 39 g R el % smam w wdt fred g i
(a) TETE A - FrE AREE T, WEAe B - Al Y S ) 39 waviy fHeea | frei
foan )
(b) —wEE A - Sl & tgffem 9 e e frege @ faenfm e et B -
=g Ayl =)
(c) wwETet A - %1 sfufrn 7, el B - #1 sifufem 76
(d) —TEEl A - FE safEa 76, A B - S TE jfafem w51 s sitvs ofea € e
faemm =1 {1 aftaftia & T
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Geeta took Aluminium pieces and added them in two test tubes A and B containing
aluminium sulphate solution and ferrous sulphate solution respectively. Correct inference
drawn by her on the basis of her observations should be :

(a) Test tube A - No reaction, Test tube B - Al displaces iron from the salt solution.

(b)  Test tube A - Aluminium displaces aluminium from its salt solution, Test tube B - No
reaction.

(c) Test tube A - No reaction, Test tube B - No reaction.

(d)  Test tube A - No reaction, Test tube- Iron being more reactive than aluminimum
changes the colour of the solution.

29 =l A, B, C H #w: 5% getre, tghfam s i s ot F foemm &1 wes 1
e @ e T e W F g e dm f wmvm s e e d T as
(a) EHA (b) =B
€ @ C (d) it s

Beakers A, B and C contain solutions of zinc sulphate, aluminium sulphate and copper
sulphate respectively. Iron filings are added to each. After half an hour the beaker from

which the blue colour disappears is :
(a)  Beaker A (b)  Beaker B
(c)  BeakerC (d)  All the beakers
30 Foirn & e 2 wfaddi @1 qe vy 9@ 0 F faw uF B 7 21 ufiyg s fam e 1
oftqdf F e #1 et wawiE R
2Ua @
10 350

- 350 10 -

HHHF—() HHHF—(-)—

45V  Key 45V  Key

M (m
@ wmiFi1o0AdmOFo1A

b) g ramunF10A
© wRmgidolATmOF10A
(d) @iufEi 1A nd 01 A

To determine the equivalent resistance of two resistors connected in series, a student prepared
two electric circuits, correct reading of ammeter in the circuits is :

+@—
_ 10 350 Q’
- 350 1Q " ) k‘v LQ(
+ +
THdE—t—" —Hif—— 0
45V Key 45V Key N oy
@ (1) ;.-*:

(@) Incircuit], 1.0 AandinII, 0.1 A

Page 8 of 11



(b)  Inbothcircuits Tand I, 1.0 A
(0 Incircuit], 0.1 AandinIl, 1.0 A
(d)  Inboth circuits Tand I, 0.1 A
31 gftgy sl | a9 1] H aeeHie S i e

+®_ ‘__‘I"@:'__

P e b i i A—
Ry 40
1 Ry P 20
+ +
HHE—— =t
6v 6v I

it

(@) ity 1% 6.0 Fiez e ¥ 0.0 FeE
(b) qﬁqﬁlﬁn.na\emuﬂﬁ.ﬂ#ﬁ
(©) 2t ftadi 1 amn 11 ¥ 6.0 FieE

)  2Fi R 1a@n ¥ 0.0 de

In circuit diagrams 1 and II Voltmeter reading will be :
,__g+ E}_—__ _:l:@:_—

A N

R, an
1 By I 211
+ +

= l‘l l“—-‘{i + |-I l:-—{-

6V 6V AT
(a)  Incircuit16.0 volts and in 1 0.0 volt
(b) circuit1 0.0 volt and in 11 6.0 volt o B 1B e

In both circuits I and 11 6.0 volt 4 <l

(d)  Inboth circuits [ and IT0.0 volt
32 'mm#mmmﬁmmt'mﬁmﬁwqwﬁﬁqﬁﬂﬁeﬁtﬂH1

T @I e € HAY T - -

(@) @ @ faifem 7 2ft )

(b) o o v e w0 T T

(© o v s wem ¥ e i @ e

(d) o3 ot forn @i it 21 e e # en @ feane )

Before starting the experiment, to show that ‘light is essential for photosynthesis’, it is
necessary to destarch the leaves otherwise it will :

(a) Not bleach properly

(b)  Will not show pale white colour on uncovered part

() Wil not show blue colour on covered part in iodine test

(d)  Will show blue colour on both covered and uncovered part in iodine test.
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33 ‘me F R cOo, Wi @M R Sy ¥ wefie @2 am ¥ KOH # 1
w4 €
(a) T R W A F @A
(b) YEEA T H AF FA
(c) v & fod s g
(d) SiFfa o Fisi & Ifia FrEq sRsilRs =) sEwifta =
The function of KOH in the experimental set up to show that ‘CO; is released during

respiration’ is :
(a)  toremove water vapour from the flask
(b)  toincrease the rate of respiration
(c) to release oxygen for respiration
(d)  toabsorb carbon dioxide released by germinating seeds
34 forelt fermmer it warTamen F 9 fa M SgER 9 wAdm (A) 2f () fg g 2

\

\Eﬁ'w \.mmﬁmﬁr
(A) B /\

(i) A3l H i e oftadt = vao fen smom ?
(i) W W H sfufen # wew fafaw)
In a school laboratory two experiments (A) and (B) were performed as shown below.

\

ﬁj{fy \:‘-mmndptmu-,rm
B /\

(i) What colour change in A and B would be observed ?
(i)  Mention the type of reaction in each case.

35 #im % fram & g F a8 warmaen # wgaa 19 i m vy seeEt & am fafe 2
(2) ¥
b —HHHF—

()
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(@ —ANW—
To verify Ohm's law in the labroatory name the following circuit components used.

()

(b) “HHHF
) :
—

(d) —AN—
36 wﬂtﬁﬁﬁﬁﬂmmmmmmﬁaﬁaﬁﬁﬂﬁmﬁﬁﬂmx

Mention any two precautions that should be taken while preparing the temporary mount ofa

-ofololo-
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